2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42+8 = 50, will be treated as malpractice.

Important Note : 1. On completing your answers, compulsorily draw diagonal cross lines on the remaining blank pages.
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Discuss mechanism of oscillation
A Reflex Klystron is to be ope:
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of 20mA. (05 Marks)
A transmission line h llowing parameters?

R=2Q/m, G=0. f=1GHz, L SDI-I/ d C=0.23 PF.

Calculate its chai tics impedance and p (05 Marks)
A line is connected to a load of 200 + j300Q wh1cl:| is excited by a matched

or'at 800MHz. Find the |
prod‘i&ee:yan impedance match.
A certain transmission line has aracteristic i
in a load impedance of 75 J%Q Compute:
coefficient. i

ﬁ%% Module-3

Derive characteristic i o

1).-Beamarea .. ¢
ii) Radiation intens:
iii) Beam efﬁan‘Ey
iv) Directivity.™

10of2

What are the high freq’aﬁic? limitations of e ?ronal vacuum @bé‘" / transistors?

lance of micro-strip lines.
Define the following terms with respect to antennas :

ingle stub nearest to the load to
(08 Marks)

i) The transmission
! (04 Marks)

(04 Marks)

(07 Marks)
type variable attenuator. (06 Marks)
1 of a lossless H-plane T junction.

n other ports are terminated in matched

(03 Marks)

(06 Marks)
(04 Marks)

impedance Z; and Z, are joined at plane PP’. Express
e when each line 1s matched terminated. (06 Marks)

(08 Marks)

(08 Marks)
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OR
Describe ohmic skin losses and radiation losses in
A parabolic reflector antenna is circular in cross
maximum effective aperture is 55% of the physi€

' gﬁ%tnp lines. (10 Marks)
with a diameter of 1.22m. If the
aperture, calculate gain of the antenna in

dB at 20 GHz. (06 Marks)
2 f
e-4 &y

Prove that directivity for a source irectional pattern of Uy, COS"0, where ‘n’ can be
any number, can be expressed as/ : (06 Marks)

Obtain filed expression of tw nplitude and phase.
; (10 Marks)
State and explain pow (06 Marks)
Derive an expression f (10 Marks)
(08 Marks)
(08 Marks)

d what are beam
(08 Marks)

which the E-plane aperturg ane= 10 The horn is'fed'by
1 5 ;
ntenna  (11)<Yagi-uda-array. (08 Marks)

mode. Let 5 = 0.2A in plane and 0.375%, int
N

widths and what is the%vity.
Discuss the fo]lowing& types (i) B

2 0f2



